DDCE-I-S-CBCS-(M.Com)-I-(MCP) R&B

2017
Full Marks : 70

Time : As in the progr’ammef

The ﬁgure.§ in the right—hdnd margih. indiCai‘e marks.

Answer questions according to General Instructions

of each Section.

Answer any three questions from Section-A
(12x3=36), Word limit-700-1000

Answer any three quéstions from Section-B
(8x3=24), Word limit-500

Answer any two questions from Section-C
(SXZ=10), Word limit-300

SECTION-A

Answer any three. 12x3=36
i Compare and Contrast the contributions made by
~ F.W.Taylor and Henri Fayol to the development of
management thought. =
2 Elaborate on the importance of pianning in the
everchanging environment. How is it done?
3. Differentiate between delegation and

decentralisation. Which one would you prefer
centralisation or decentralisation?
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- environment. How have those brought in both
challenges and opportunities for managers?

: SECTION-B e
Answer any three. : 8x3=24
6. Brinp out the essence of Human Relations

Approach.
7.  What are the different types of decisions managers
’ make as regards to timeframe, managerial level and
use? — _
‘8. What are the different types of organisation? How
is organisation structure created?.
9. Explain different principles of coordination.
10. Describe the role of managers in facing the
challenge of change
SECTION-C .
Answer any two: 5x2=10
11. How is contlngency approach ~applied in
; management"
12. What is Bounded Ratlonahty model or
administrative man model of decision making?
13. Explain the functioning of a matrix structure.
14. How is management audit used for controlling?

12}

Planning is the basis, information is the key and
delegation is the essence of eftectlve control—
Discuss. :

Account for the changes in the recent busmcss
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DDCE-L-S-CBCS-(M.Coin)-1I(QMM) R&B @

2017
Full Marks : 70
Time : As in the progré.rmne |
The figures in. the right-hand margin indicate marks.
Answer questions accofding to General Instrucﬁons
| of each Section. '
Answer any three questions from Section-A
(12x3=36), Wor& limit-700-1000
Answer any three questions from Section-B
' (8x3=24), Word limit-500 '
Answer any two _qixestions from Section-C
(5%x2=10), Word limit-300

SECTION-A

Answer any three. : 12x3=36
1 31

Lo A= =3 find out inverse matrix of A
a2

2. A food processor uses a moving average to forecast

next month's term and past actual demand (in units)

[Turn over]
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DDCE-1-S-CBCS-(M.Com)-11I-(BEE) R&B @

2017
Full Marks : 70
‘Time : As in the programme
" The figures in the right-hand margin indicate marks.
Answer questions according to General Instructions
of each Section.
‘Ansﬂwer any three questiohs from Section-A
. (12x3=36), Word 1imit-700-1000
Answer any :three'questidﬁs from Section-B
. (8x3=24), Word limit-500

Answer any two questions from Section-C
~ (5%2=10), Word limit-300

3 SECTION-A
Answer any three. 2 12%x3=36
1. What is the importance of internal environment in
strategic business planning and what is the
signifiéahce of each component of internal

environment?

(89

What are the objectives and salient features of the

new industrial policy of Govt: of India?

[Turn over]




(2]

3. What is importance of "Globalisation" for a
~ developing economy like India and what measures
have been taken by Government of India in this
direction?

4. What is the role of RBI in regulating monetary
policy controlling commercial banks and credits in

India? e ‘ '
5. Describe imp'ort‘anc'e_ of price and distribution
control and describe thé measures have been taken

by Government in that direction.

SECTION-B .
Answer any three. ' } §x3=24
6. How far Indian Business séctor has been successful
in achieving the obj ectives of the Social
responsibilities of the business in India and how? -
7. Evaluate the economié roles of Govt. of India in’
the business :development. Outline important
, provisiéns of the monetary policy. | '
8. Discuss the importance of GATT and WTO in the

promotion of international business of India.

9. - What = ‘
, are the i
s eh;mp(;ﬁanf t functions of Indjap capital
W - different ref; -
been initiated ke elorm measur ve
.- Inttiated by the Govt. of Ingj :-S S=
, opment i = a for th
10. it of capital market? :

What are the - 5
objectives of Ind;
ndian plannin
g and how.

b nt has played key roles with diff:
Y measures in this direction? erent

. | SECTION-

Answer any two: ‘ X

11. How i i | 5
OW 1s business and culturé related? . <

12. Dj i '
| lscuss Importance of Fisca] Poli

State t —
= .he significance of the cq s
in India, : mmodities market

14.  Outline dj
different dj :
me '
business. - nSIQHS of globalisation of
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. DDCE-I-S-CBCS-(M.Com)-IV-(FM) R&B ’\\99

SaniT
Full Marks : 70

- Time : As in the programme
7 hé ﬁgures in the right-hand margin indicate marks.
Answer questions accbrding to Génefal Instructions
of each Section. A
Answer any three questions from Section-A
(12x3=36), Word 'limit-700‘-1000
Answer any three questions from Section-B
(8x3=24), Word limit-500

Answer any two questions from Section;C‘
(5%2=10), Word limit-300

 SECTION-A

Answer any three. - 12x3=36

1. In Walter's approach, the dividend policy of a firm -
depends on availability of investment opportunity
and the relationship between the firm's internal rate
of return and its cost of capital. Discuss what are
the shortcomings of this view. ;

= How will you control capital expenditure in a

developing company? Design a simple form for
capital expenditure control reporting.

[Turn over]
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